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Researchers undertook a meta-analysis of the analgesic effect
of acupuncture. Randomised controlled trials of acupuncture

STATISTICAL QUESTION Meta-analysesV

Acupuncture Placebo acupuncture for pain were included Only ifthey had three arms
al S dardised ; ; . . . . .

Tria Mean SO No  Mean SD Mo oo O o 5ot o incorporating two control groups, with patients randomised
Brinkhaus 34.5 28.5 140 43.7 29.8 70 —— 9.3 -0.32(-0.61t0-0.03) to .acupun(-:ture’ plaCEbO .acupunCture’ orno acupun(.:ture'
Fanti 20 13 10 28 16 10 _— 10 -0.53(1.4210037) Thirteen trials were identified. Placebo acupuncture included
Foster 6.38 4.1 113 5.98 4.3 115 —t— 11.5 0.09 (-0.16 to 0.35) H H H H
o s s 1a o 16623010099 insertion ofneedles.mto non-acupuncture points orthe
Leibing 27 22 35 21 22 4o e 37 -0.27(0.73100.19) use of non-penetrating needles. Separate analyses were
n 206235 50 345 235 2 T 3.4 0.16(0.6510032) undertaken foracupuncture versus placebo acupuncture and
Linde 3.7 2.0 138 3.6 21 78 —— 10.0  0.05(-0.23t0 0.33)

Melchart 29 16 119 31 17 58 — 7.9 0.12 (:0.44 10 0.19) placebo acupuncture versus no acupuncture.
Molsberger 260 210 58 360 15.0 58 — A The trials used different instruments to record the primary
Scharf 3.0 2.3 315 33 2.4 358 B 33.7 -0.13(-0.28 t0 0.02) .
Sprott 69 56 10 79 57 10 _l 1.0 -0.17 (1.05 0 0.71) outcome of self reported pain at the end of treatment,
Wang 445 245 50 480 220 25 —T 34 0.15(0.63100.33) includingvisual analogue scales and ranking scales.
Witt 24.4 169 145 33.2 171 73 —_— 9.5 -0.52(-0.80 to -0.23) . .
Therefore, standardised mean differences were calculated.

Total (95% C 1206 943 ¢ 100.0 -0.17 (026 to -0.08) The results of the meta-analysis foracupuncture

Test for heterogeneity: x’=17.23, df=11, P=0.10, ’=36% 4 o 1 ) . .

Test for overall effect: 223.80, Pe0.001 compared with placebo acupuncture were presented in a

F F laceb
acupuncture cupuncture forest plot (figure).

Which of the following statements, if any, are true?

Forest plot of the effectiveness of acupuncture compared with placebo acupuncture in
reducing pain at end of treatment. For each trial and the total overall effect, the mean
difference in pain was derived as acupuncture minus placebo acupuncture

a) The standardised mean difference depends on the
original measurement scale

b) Standardised mean differences convertall outcomes
toacommon scale, measured in multiples of standard
deviations

¢) The sample estimates and associated 95% confidence
intervals were plotted on a logarithmic scale
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CASE REPORT
Neck lump in ayoung woman

A 27 yearold woman presented to her general practitioner with an
increase in the size of a longstanding lump in her neck. She had first
noticed it fouryears ago, as a small right sided lump, butin recent
months it had increased in size to cause obvious asymmetry. Over the
past few years she had also experienced flushing when drinking alcohol
and loose stools. Her only medical history was tonsillectomy and
adenoidectomy as a child. She had no family history of endocrinopathy
orsudden death. On examination, she had a single well defined lump
in the right anterior triangle, extending down to her clavicle. She was
clinically euthyroid and thyroid function tests were unremarkable.
1 Name five criteria that should prompt urgent outpatient referral for a
neck lump.

2 Whatis the differential diagnosis in a young woman with these
symptoms?

3 Whatis the diagnostic investigation of choice?

4 What other investigations might add to the clinical picture?

5 Whatrare diagnosis is suggested by this clinical picture?
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d) The overall estimated mean pain at the end of treatment
with acupuncture was significantly different from that for
placebo acupuncture at the 5% level of significance

ON EXAMINATION QUIZ
Glasgow coma scale

This week’s question is on the Glasgow coma scale and is taken
from the onExamination revision questions for the FRCS general
surgery exam.

Patient 1

A 40yearold manisinvolved in a head on collision while driving to
work. In the resuscitation room he opens his eyes to pain, is mumbling
inappropriately, and tries to stop the senior house officer putting a
cannulain hisarm.

Patient 2

A 50 yearold woman jumps from the seventh floor of an office block in
an attempt to commit suicide. In the resuscitation room there is no eye
opening or speech. She does not respond when her nail bed is pressed.

Patient 3

A 60 yearold man has been celebrating his daughter’s wedding. He
gets into a fight with his son in law and is knocked unconscious. When
he arrives at the emergency department he opens his eyes when asked
to butis unsure of where he is and why. When asked to take his tie off
he does so.

Calculate the Glasgow coma scale for each of the above presentations.
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